L 73 2 76
- 11 - 11
6. 17 769
- 10 — 24
1. g6 2. 79
— 82 — 37
16 17 17. 73
- 11 — 51
21 58 22 35
- 10 - 11
6. 49 2. 77
— 38 — 67

Name: Date:

Teacher: Class:

Subtraction 302

How did the elephant do in the race? He won by a nose.

Subtract these. There is NO trading.

3 42 “ 34 5. 74
- 31 — 12 - 13
5. 44 o 87 0. 79
~ 14 — 86 ~ 51
1. 93 14 79 15 49
— 92 - 13 — 36
18 23 19 96 0. 80
— 22 — 55 - 10
23 31 24 93 25 53
- 21 - 20 - 22
8 13 2. 73 0. 54
- 10 — 32 - 41
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WS#:Sub302 Score:




L 73 2 76
- 11 - 11
62 65

6. 17 769
- 10 — 24

7 45

1. g6 2. 79
— 82 — 37

4 42

16 17 7. 73
- 11 - 51

6 22

21 58 22 35
- 10 — 11
48 24

6. 49 2. 77
— 38 — 67
11 10

Answer Key Date:

Teacher: Class:

Subtraction 302

How did the elephant do in the race? He won by a nose.

Subtract these. There is NO trading.

. 42 “ 34 5. 74
- 31 — 12 — 13
11 22 61

5. 44 o 87 0. 79
— 14 — 86 ~ 51
30 1 28

13 93 14 79 15 49
- 92 - 13 - 36

1 66 13

18 23 19 96 20 80
- 22 — 55 - 10

1 41 70

23 31 24 93 25 53
— 21 — 20 — 22
10 73 31

8. 13 2. 73 . 54
- 10 — 32 — 41

3 41 13
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